FORCER T T A pEAR L DX (RS X)) — &

4 R
fir & i
o | X A4

1 B PO | BRI PR T A HiN # 1,060 i
2 ¥ W BREX PR T HHN 3, 120
3 g OE | HEXK EERUTEHA 1, 640
5 H B SRS oA T A #N 760
6 ok | BB AR T H N 9, 780
7 R | BB AR T H N 7,300
8 R | BB AR T BN 1, 330
11 ok | BB AR T H N 3,120
12 R | BB AR T H N 600
13 R | BB AT H N 500
20 R R MR AR T E RN 1, 750
21 R R | MR R T E RN 830
23 R R | MR AR T E RN 4, 460
24 R R | MR PR =T RN 2, 730
26 i B | SEX S —T BH#IN 1, 200
27 i B | X S T BN 1, 380
28 i B | HEX S =T BN 1, 080
29 iz B | EX AT HHN 1,010
30 i B | HEX AT HHN 2, 850
32 i B | #UISX EANT HHN 1, 530
39 [ | AR D LDt B 1, 790
40 B | sEX BT HHA 540
42 i R DX B — T H Hipy 1, 480
43 i R DX B — T H Hipy 1, 050
44 i R DX B — T H Hipy 720
45 i R DX B — T H Hipy 760
46 il X 88 T HH#pN 1, 040
47 KN B | MUISXOKIE T BH#IN 360
48 K B | #USKIINEMNT B H#A 1, 430
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51 Foomm B | BEXK ERfE— T HEHA 9 880 mni
52 ook A | EX Efe—T BN 2, 300
53 ook A | EX EfE =T B#iN 2, 180
54 ook A | EX CEfE =T B#N 1, 700
55 ook A | EX EfE =T B#tN 1, 890
57 ook A | EX CERfE =T B#N 1,710
58 ook A | EX CEfE =T B#iN 2, 990
59 ook A | EX EfE =T B#iN 4, 120
60 ook A | EX CEfE =T B#N 2, 150
61 ook A | SEX CEREUT B #iN 790
62 ook A | SEX CEREUT B #N 1, 880
65 ook A | SEX CEREUT B #N 3, 640
66 ook A | SEX CEREUT B #N 1, 020
67 ook A | SEX CEREUT B #N 2, 350
70 B | MEX B T HMN 3, 850
73 B | MEX B =T HMN 1, 880
74 B | S R T A A 7, 460
75 B | S R T A A 3, 180
77 B | RS BT A 4, 430
78 B | S BT A 2, 000
82 OB M| WUSK FAET—T HH#A 540
84 OB M| WUSK FAET—T HH#A 620
85 OB M| WUSK FAET—T HH#A 1, 440
86 OB M| WUSK FAET—T HH#A 2, 200
89 OB M| WUSK FAET T HHA 1, 790
90 OB M| WUSK FAET T HHA 2,170
91 OB M| WUSK FAET T HHA 4, 090
92 OB M| WUSK FAET T HHA 5, 060
93 OB M| WUSK FAET T HHA 1,510
94 OB M| WUSK FAET T HHA 3, 870
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98 FOOH | SEX HEHETUT B H#AN 4 3,260 mi
99 FOOHOH | SEX HEHETUT B H#AN 1,110
101 OB AT | HUSX FEARTET HH#A 9, 200
103 OB OHT | HUEX FEARTET HH#AN 1, 480
105 OB OHT | HUEX FEARTET HH#A 1,810
111 OB OHT | WS FEARTST HH#AN 6, 330
112 OB OHT | HUSX FEARTST HH#IAN 3,670
113 & Ty | MG s —T BN 3,010
114 & | MG A —T BN 1,030
115 & | BSK mfa—T BN 560
116 & Ty | MG s —T BN 1,520
117 & Ty | MG A —T BN 4, 450
121 = T | SRS EAL T H N 1, 750
122 = T | SRS EAL T H HN 2,210
123 = | SRS EAL T H HN 3, 870
124 = T | SRS EAL T H HN 5, 820
125 = T | SRS EAL T H N 1, 590
127 = T | SRS EAL T H HN 2, 780
129 & | BSXK SR =T BN 1, 090
130 & | B SR =T BN 7,120
131 & | MG SR =T BN 1,030
132 & | B SR =T BN 1, 850
133 & | MG SR =T BN 610
134 & | B SR =T BN 2, 920
135 & Ty | BREGRK m AR T B N 860
136 & Ty | BREGRK mAR T B N 1, 740
138 & Ty | BREGRK m AR T B N 520
139 & Ty | BREGRK mAR T B N 2, 660
140 & Ty | BREGRK mAR T B N 3, 060
142 = P | MRS @A T B HIN 2, 400
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143 & | BGK SAATLT BN 9 5,980 ni
144 & Ty | BGK SAATT BN 970
145 & | BEGK SAATLT BN 1,720
146 & | BGK SAATLT BN 2, 740
147 & | BGK SAATT BN 840
148 & | BEGK SAATLT BN 1, 850
149 & | BEGK SAATLT BN 2, 290
151 & | BSK SAATLT BN 3, 500
154 & | BEGIK SAANT BN 4, 400
155 & | BEGK SAANT BN 510
156 &) A | SRS K mAAIR T H HIN 2,820
158 It T | #UEK AEETS T B HIN 2,170
159 It T | MUEK AEETS T B HIN 2,070
160 It T | S AEET-E T HN 1,140
163 It T | S AEET-E T HN 1,170
164 It T | MUEK AEET-E T HN 1,980
165 It T | S AEETUT B N 920
166 It T | S AEET T B N 2,330
168 It T | S AEET T B N 670
169 H | S A — T B 1, 090
170 H | S A — T B 2,090
173 H | S A — T B 6, 330
176 H | SRS A T BN 1, 640
177 H | SRS A T BN 1, 260
178 H | SRS A T BN 6, 740
179 H | SRS A T BN 5,420
181 H | SRS A T BN 5,910
183 H | S H =T B 2, 060
187 H | S H =T B 2,200
191 H | S H =T B 1, 160
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197 H | SRS AR T B AN 9 3,320 i
198 H | ARSI HARDL T H HN 720
199 H | ARSI HARDE T H HpN 1, 160
200 H | ARSI HARDL T H HN 670
201 H | ARSI HARDL T H HN 1,810
203 H | ARSI HARDL T H HpN 1,810
205 H | SRS AT B HN 2,590
207 H | SRS AT B HN 5, 860
213 X W | BEX B3CHE—T BHAN 1, 320
216 X W | BEX B3E—T BHAN 3,890
218 X W | BEX L3HE—T BHAN 9, 290
219 X W | BEX BE3CHE—T BHAN 1,570
220 X W | BEX B3CHE T BHAN 5,220
221 X W | BEX B3CHE T BN 1,830
222 X W | BEX B3CHE T BHAN 2, 240
226 X W | BEX B3CHE T BHAN 1,020
227 X W | BEX B3CHE T BHAN 1, 450
229 X W | BEX B3CHE T BN 1,670
230 X W | BEX B3CHE T BHAN 3,980
231 X W | BEX B3CHE T BHAN 6, 580
233 X W | BEX L3HE=T BN 2,970
234 X W | BEX L3HE=T BN 1, 180
237 X W | BEX L3HE=T BN 4, 410
238 X W | BEX L3HE=T BN 500
239 X W | BEX L3HE=T BN 1, 120
241 X W | BEX L3HE=T BN 3,410
242 X W | BEX L3HE=T BN 2,010
246 X W | BSK B3EE T H AN 2, 260
248 X W | BSK B3EE T H AN 5,320
250 X W | BSK B3EE T H AN 7,390
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251 X W | BESK B3EET E AN 9 2,080 nf
252 3 W | BEXK B3EME T H AN 850
253 X W | BSK B3EM T H AN 4,070
254 B LR A | BEXELERE—THlN 4, 990
255 B LR E | BEXEERE=THHA 1,230
258 FEOH | BRESX R H T H 5, 270
259 FEOH | BRESX R H T H 1,790
263 FEOH | BRESX RH T T H M 15, 620
264 FEOH | BRESX R T H M 860
265 FEOH | BRESX R T H M 1,100
266 FEOH | BRESX R T H M 690
267 FEOH | BRESX R T H M 1,820
270 FEOH | BRESX R H =T H 3, 100
271 B | RIS R LT H M 1,620
273 B | RIS X R LT H M 560
275 FEOH | BRESX R H T H 3,420
278 m B ofw | WEXK eFe =T RN 4, 390
279 m B R | WEXK eFe =T RN 1,290
280 m B ofw | WEXK eFe =T RN 1,570
282 B ofw | WEXK &ERUT A 1,110
283 & B ofw | WEXK &ERUT AN 1,530
284 m B ow | WEXK &Ee ] BN 840
285 B ow | WEXK eEFe ] B 1, 150
288 m B ow | WEXK &Ee ] BN 4, 060
290 A Ji | B AE—T H A 2, 250
293 A Ji | B AE—T H A 1,070
295 A Ji | B AE—T H A 1, 640
296 A Ji | B AE—T H A 3,330
298 A Ji | SRS X AR T H N 1,170
300 A Ji | B AR =T H AN 5,290
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301 S J | K AR =T B #iN #J 1,560 nd
305 A JR | U AR TR HIN 3, 190
307 A JR| AU AR TR HN 3,770
308 A i | SRS X AR AT H N 2,000
311 A i | SRS X AR AT H N 3, 460
312 A i | SRS X AR AT H N 8, 030
313 A i | SRS X AR AT H N 1,170
314 A i | RS X AT H A 1,070
315 A i | RS X AT H #N 3, 580
316 A i | RS X AT H N 3, 800
317 A i | RS X AT H #N 1,870
318 A i | SRS X AT H N 1, 320
325 = R A | HEX AT HHN 2, 540
328 = R OfA | HEX ZREAE ST BN 1, 080
329 = R OfA | HEX ZREA ST HHN 6, 420
330 = R OfA | HEX ZREAE ST BN 4, 020
332 = R OfA | HEX ZREAEST BN 3,190
333 = R OfA | HEX ZREAEST BN 6,610
334 = R OfA | HEX ZREAEST BN 760
335 = R OfA | HEX ZREAEST BN 3, 040
336 = R OfA | HEX ZREAEST BN 6, 560
339 £ AR S BT | S X AR — T HN 2, 490
340 £ AR S BT | S X AT T HN 4,220
341 £ AR SR BT | S X AR T N 630
345 £ AR S BT | S X AR T H N 4, 150
347 £ AR S BT | S X AR LT H HN 8, 930
348 £ AR S BT | S X AR LT H HN 3, 000
349 £ AR S BT | S X AR LT H HN 1, 220
350 £ AR S BT | S X AR IRRTS T H #N 1, 550
351 £ AR S BT | S X AR IRRTS T H #N 1, 250
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352 £ AR FE T | SUS K A EITETT BN (R 4,420 i
353 £ AR FE T S I AR ERT-ET H HpN 1, 020
354 £ AR FE T | S I AR ERTET H HpN 940
355 £ AR FE T | S I AR ERT-ET H HpN 3, 700
356 £ AR FE T S I AR ERT-ET H HpN 960
357 A B | IS e T AN 3,120
359 A A | IS e T AN 1, 730
360 A A | MUK e T AN 1,170
362 A A | IS e T AN 2,620
368 A A | S aHE =T BN 1, 390
369 A A | S aHE =T 3 A 500
370 A A | SIS AaHElE T A A 4, 580
372 A A | WIS AaHEE T A A 780
373 A A | SIS AaHEE T A A 3, 060
374 A A | IS AaHElE T A A 6,910
375 A A | MUEX aHERT BN 1, 530
376 A A | MUEX aHE T BN 500
377 A A | S aHERT BN 530
378 A A | S aHERT BN 5,930
379 A A | MUEX aHERT BN 3, 040
381 A A | MUEX aHE T BN 7,110
383 A A | MUEX aHERT BN 1, 280
384 A A | MUEX aHE T BN 1,510
386 A B | SIS AaHEART BN 7,110
387 A B | IS AaHEART BN 8, 250
389 A B | SIS AaHEART BN 810
390 A B | IS AaHEART BN 510
391 A B | SIS AaHEART BN 1, 420
393 A | MIEX aMHeET BN 910
395 A A | IS aHE/NT N 3, 390
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396 £ M B | MEXK AaMIEENT B#N (K 6, 760 i
398 £ I A | MEK ArHtE /T BN 3, 690
399 T A AR | BUSK TR T B HN 1, 320
400 T A AR | B TAaMHE T RN 590
401 T A AR | BUSK TR T B HN 2,330
403 T A AR | BUSK TR B HN 1, 850
404 T A AR | BUSK R T H N 670
407 T A AR | BUSK TR =T BN 8, 890
409 T A AR | RIS FARRH T H HN 2, 830
412 T A AR | BB TAMEIL T BN 500
413 T A AR | BUSK FAARRHIT B HN 4, 330
414 T A AR | S TAMHEILT BN 410
415 T A AR | S TAMHEILT BN 500
420 T A AR | BUSK TS T B HIA 2, 580
421 T A AR JE | BUSK TS T B HIA 3, 780
424 HOR R BB KR T HH#IN 4, 690
426 HORIR | B BRI T H A 2, 300
427 HoORIR | B BRI T H AN 1, 800
428 HoORIR | B BRI T H A 3,070
429 HOR R BEX KRR HH#IN 8, 740
430 HOR R BEX KRR HH#IN 5, 040
431 HOR R BEX KRR HH#IN 2, 250
432 HOR R BEX KRR HH#IN 8, 460
433 HOR R BEX KRR HH#IN 1, 370
434 HOR R BEX KRR HH#IN 7,460
435 HOR R BEX KRR HH#IN 1,680
436 HOR R BB KRR T HH#IN 1,280
437 HOR R BB KRR T HH#IN 2,770
438 HOR R BB KRR T HH#IN 4,510
439 HOR R BB KRR T HH#IN 7,940
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440 HOR R BB KRR T HH#IN 9 2,000 nf
441 HOR R BB KRR T HH#IN 10, 460
442 HOR R BB KRR T HH#IN 4, 460
443 R R BB KRR T HH#IN 850
447 PR R | BB PRI — T H H#IN 2, 370
452 PR R | BB PRI — T H I 2,410
453 PR R | BB PRI — T H H#IN 2,510
455 PR R | BB PRI — T H HIY 1,710
456 PR R | BB PEORIR T H I 5,100
457 PR R | BB PEOROR T H HIN 1,280
458 PR R | BB PEORIR T H I 3, 250
459 PR R | BRI PEOROR T H N 1, 360
460 PR R | BB PEORIR T H N 860
461 PR R | BB PEORIR T H N 3,240
462 PR R | BRI PEOROR T H N 11, 100
463 PR R | BB PEORIR T H N 6, 060
464 PR R | BB PEORIR T H N 19, 720
465 PR R | BB PEORIR T H N 1,230
466 PR R | BRI PEOROR T H N 2,830
467 PR R | BB PEORIR T H N 3,520
468 PR R | BB PEORIR T H N 1, 240
469 PR R | BB PRI =T H I 1,830
470 PR R | BB PRI =T H I 750
473 PR R | BB PRI =T H I 1,710
474 PR R | BB PRI =T H I 1, 740
477 PR R | BB PEOROR I T H HN 3, 940
478 PR R | BB PEOROR I T H HIN 2,610
479 PR R | BB PEOROR I T H HIN 2, 120
480 PR R | BB PEOROR I T H HIN 1,330
481 PR R | BB PEOROR I T H HIN 10, 140
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482 PR R | BB PEOROR I T H HN 9 4,020 nf
483 PR R | BRI PEORIR I T H HIN 1, 000
484 PR R | BB PEORIR I T H HIN 3, 700
485 PR R | BB PEOROR I T H HIN 8, 230
486 PR R | BRI PEORIR I T H HIN 2, 090
487 PR R | BB PRI T H HIN 850
488 PR R | BB PRI T H HN 2, 960
489 PR R | BRI PEOROR I T H HIN 8, 480
490 PR R | BB PEOROR LT H I 5, 380
491 PR R | BB PEROR LT H I 590
492 PR R | BB PEOROR LT H I 1, 460
493 PR R | BB PERIR LT H N 3, 560
494 PR R | BRI PEOROR LT H I 1, 260
495 PR R | BRI PERIR LT H I 1,370
496 PR R | BB PEORIR LT H I 6, 250
497 PR R | BRI PERIR LT H I 2, 960
498 PR R | BRI PEOROR LT H I 5, 580
499 PR R | BRI PERIR LT H I 1,570
500 PR R | BB PEORIR LT H I 2, 100
503 PR R | BRI PERIR LT H I 1,520
504 PR R | BRI PEOROR LT H I 2, 370
505 PR R | BB PERIRST H HIN 3,010
507 PR R | BB PERIR ST H HIN 2, 840
508 PR R | BB PERIRST H HIN 900
509 PR R | BB PERIR ST H HIN 880
510 MoK R | R ERR T HHA 13,370
513 ORISR | BISX MR T BHN 4,070
514 ORISR BISX MR T BN 3,090
515 ORISR BISX MR T BN 2, 960
516 ORISR BISX MR T BN 2, 260
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517 MR R | MUSK MARR—T HHAN ) 3,510 nf
519 MR IR | BB R H N 3,010
521 OR IR | BB FERIR T H N 2, 550
524 OR IR | BB FERIR T H N 4, 360
525 FOR IR | BB FERIR T H N 4, 870
527 FOR IR | BB R T H N 850
528 OR IR | BB FERIR T H N 5,470
531 MoK IR | BB FERIR T H N 6, 990
532 MR IR | BB ORI =T H N 3, 550
534 MoK IR | BB ORI =T H N 1,030
535 MoK IR | BB FERIR T H N 5, 240
538 FOR IR | BB ERIR =T H N 4, 690
539 MR IR | BB ORI =T H N 9, 390
540 FOR IR | BB R =T H N 5, 780
544 FOR | BRISX R T B HN 3,030
545 FOR | BRISX R T H HIN 2,910
546 FOR | BRISX R T B HIN 1, 350
548 FOR | BRISX R T B HN 4, 480
549 FOR | BRISX R T B HN 500
550 OR IR | BB ERIR T H N 1, 220
551 MoK R | BB ERIR T H N 940
552 OR IR | BB ERIR T H N 510
556 MoK R | BB ERIR T H N 3,670
557 OR IR | BB ERIR T H N 830
558 MoK R | BB ERIR T H N 4, 150
559 OR IR | BB ERIR T H N 2, 060
561 MR IR | BB RIS T H N 3,710
562 MOR IR | BB RIS T H N 1,710
564 KRR HE | B KRET—T HHA 5, 480
565 KRR HE | B KRET—T HHA 520
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567 KR ET | BB RIRET—T H #IN 9 810 ni
568 KR ET | BB RIRET—T H #N 2, 400
569 KR ET | BB RIRET—T H #IN 1, 460
570 KR ET | BB RIRET—T H #IN 3, 650
571 KR ET | BB RIRET—T H #N 1, 240
572 KR ET | BB RIRET—T H #N 610
574 KR ET | BB RIRET—T H #IN 710
575 KoOIRET | BB RIRET—T H #IN 1, 880
576 KR ET | BB RIRET—T H #IN 6,410
577 KRBT | BB RIRET—T H #IN 1, 140
578 KR ET | BB RIRET—T H #IN 580
579 KR ET | BB RIRET—T H #IN 6, 240
580 KR ET | BB RIRET—T H #IN 1, 480
581 KR ET | BB RIRET—T H #N 2,920
582 KoOIRET | BB RIRET—T H #IN 6, 260
583 KR ET | BB RIRET—T H #IN 19, 530
584 KR ET | BB RIRET—T H #IN 3,010
588 KR ET | BB RIRET T H #IN 5,070
589 KR ET | BB RIRET T H H#IN 2,410
590 KRR | BB RIRET T H H#IN 790
591 KRR | BB RIRET T H H#IN 4, 020
592 KIRET | BB RIRET T H #IN 2, 940
593 KRR | BB RIRET T H HIN 660
594 KIRET | BB RIRET T H #IN 1,980
595 KRR | BB RIRET T H HIN 8, 600
596 KIRET | BB RIRET T H #IN 7,670
597 KRR | BB RIRET T H HIN 990
598 KRBT | BB RIRET T H #IN 2, 040
601 KR ET | BB RIRET =T H #iN 2, 440
602 KR ET | BB RIRET =T H #iN 14, 450
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603 KRBT | BRERX RIRET =T H #IN 9 2,930 nf
606 KRBT | BB RIRET =T H #iN 690
607 KR ET | BREX RIRET =T H #IN 4, 640
608 KRR | BB RIRETIU T H H#IN 950
610 KRBT | BB RIRETIU T H N 630
611 KRR | BB RIRETIU T H H#IN 3, 140
613 KRR | BB RIRETIU T H HIN 2, 930
615 KR ET | BB RIRETST H #IN 500
616 R F T | RIS XK R PR — T H H#iN 1, 020
617 R F T | BRES XK RKEEET— T H H#iN 1,710
618 R F T | BRSSP T — T H H#iN 1, 720
619 R F T | BRSSP EET— T H H#iN 1, 150
620 R F T | RIS XK R PR — T H H#iN 630
621 R F T | BRI R P EET— T H H#iN 1,610
622 R F T | RIS XK R EET— T H H#iN 7,800
624 R F T | BRSSP — T H H#iN 970
625 KRR F T | BRI K RSP EET T H N 2, 770
629 R F T | BRI RSP EET T H N 3, 160
631 KRR F T | BRI K RSP EET T H N 1, 150
632 KRR F T | BRI K RSP EET T H N 4, 660
633 KRR F T | BRI K RSP EET T H N 5, 550
634 KRR F T | BRI K RSP EET T H N 1, 750
635 KRR F T | BRI K RSP EET T H N 3,230
638 R F T | BRI R P EET =T H H#iN 740
639 R F T | BRESK RAE T =T 3 H#iN 9, 630
640 R F T | BRI R P EET =T H H#iN 1, 550
643 R F T | BRESK RAE T =T 3 H#iN 14, 640
646 R F T | BRI R P EET =T H H#iN 1, 040
648 R F T | BRI R P EET =T H H#iN 3, 200
649 R F T | BRI R P EET =T H H#iN 500
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651 KRR AT | 8RS X RS2 ENT =T 3 #7949 5,500 nd
652 R F T | BRSSP T =T H H#iN 13, 340
653 R F T | BRSSP T =T H H#iN 11, 670
654 R F T | BRI R P EET =T H H#iN 680
656 KRR F T | BRI K R EETIU T H N 3,720
659 KRR F T | BRI K RS EETIU T H N 580
660 KRR F T | BRI K RS E T T H N 4, 630
661 KRR F BT | BRES X RSEEETIU T H N 5, 840
663 KRR F BT | BRI X RS T IU T H N 600
664 KRR F T | BRI K KT IU T H N 790
665 KRR F T | BRI K RS EEETIU T H N 500
666 KRR F BT | RIS X RS T IU T H N 5, 040
667 KRR F BT | BRI X RS T IU T H N 500
668 KRR F T | BRI K RS EETIU T H N 2, 970
669 KRR F T | SRS X RSP EEETIU T H N 430
670 KRR F T | RIS X RS EETIU T H N 1, 490
672 KRR F BT | BRI X RS T IU T H N 2, 350
674 KRR F T | BRSSP T T H H#N 5, 040
675 R F T | BRI KPR T H H#N 1,530
676 R F T | BRSSP T 3T H N 6, 120
678 KRR F T | BRI R PR HT H N 960
679 R F T | BRSSP T 3T H N 1, 500
680 KRR F T | BRI R PR HT H N 1, 840
681 R F T | BRSSP T 3T H N 2, 280
682 KRR F T | BRI R PR HT H N 5, 340
684 R F T | BRSSP T 3T H N 1, 330
687 KRR F T | BRI R PR HT H N 1, 140
688 R F T | BRSSP T 3T H N 2, 100
689 R F T | BRSSP T 3T H N 1, 480
690 R F T | BRSSP T 3T H N 3, 880
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691 R FREET | BREK RIRSEERT T B HA |5 4,970 nf
694 RIRF AT | SRS KRIRFEETS T HHA 70
695 RIRF AT | SRS RIRFEETR T HHA 990
698 RIRFREET | SRS RIRFEETE T HHA 990
699 RIRF R | SRS RIRFEETE T B HA 2, 340
701 RIRFRET | #EX RIRFEET-E T B HA 990
704 RIRF AT | SRS RIRFEETUT B HA 2,970
708 RIRF AT | SRS RIRFEETUT B HA 4, 690
709 RIRF AT | SE X RIRFEETUT B HA 9, 160
710 RIRF AT | SRS RIRFEET T B HA 4, 690
712 B8 BT db | UK BT =T H #N 14, 130
714 B8 BT db | UK BRI =T 3 #N 1,270
716 BE T db | USRS BERTARIY T H #N 1, 260
717 B T db | AU BERTARE T B #N 8, 180
718 B8 W7 db | AU BERTARE T H #N 1, 150
719 B8 W7 db | AU BERTARE T B #AN 3, 340
723 B8 W7 db | AU BERTARE T B #N 4, 290
724 B T db | AU BERTARE T B #N 2,210
725 BS W] FE | MUSX BETRE— T HHAN 610
727 BE BT 9| MUEDC BARTE T H HIN 4,190
728 BE BT mg | MUED BARTE =T H HIN 4,190
729 BE BT 9| MUED BARTE =T H HIN 2,720
730 BE BT mg | MUED BARTE =T H HIN 1, 730
731 BE BT 9| MUED BARTE =T H HIN 1, 440
734 BY W] FE | MUSX BIETEIIY T H HIN 4, 310
736 BY W] FE | MUSX BIETEIIY TOH HN 4, 570
737 BY W] FE | MUSX BIETEIIY T H HIN 4, 340
739 B W] FE | MUSX BIETEIPY T H HIN 2, 420
740 B W] FE | MUSX BIETEIPY T H HIN 2, 850
741 AR EEET | S X AR ET N 1,990
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744 LB T | #RE X SLEFETHIN 7 1,180 nd
745 S B T | ARSI SZEPHTHIPY 4, 540
748 S B T | ARSI SZEPHTHIPY 1, 780
749 S By W | BRI SEEFET I 4,130
750 S By W | RRESIX SEEFET I 8, 080
751 oA R | BRI AT BN 710
752 oA R | BRI AT BN 3,620
753 oA AR | BRI AT BN 4, 900
754 oA R | BRI AT BN 7,160
755 oA AR | BRI AT BN 950
758 oA R | BRI AR =T BN 2, 500
761 oA AR | BRI AR T B N 1, 790
763 BE WT R | MUSX BAETER T BN 3, 840
764 BE WT R | MUSX BAETER T BN 1, 430
765 2 B | MEX AT BN 730
766 2 B | MEX AT BN 1, 430
768 H | #EXK BHNUT N 940
770 H | BEXK BHLT BN 3, 040
771 K B | MEKOKIE—T BHH#A 1,720
773 - | R R =T H A 2,180
774 OB OHT | HUSX FARTST HH#AN 1, 080
775 &) A | SRS K mARIS T H HIN 750
777 JE My | SRS X BHT— T Hipy 2,690
779 PO | RIS X R LT H M 710
781 A Ji | B AR =T H AN 690
782 A JR | AU D BRI TR HIN 500
783 A JR | AU AR T E HIN 1,180
784 £ I A | MEK ArHEl T BN 990
787 HOR R BEX KRR HH#IN 610
789 KR ET | BB RIRET—T H #N 1, 060
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790 MoK R | R ERIR R T HHA #J 1,120 nd
791 7] | AU R A =T 1, 740
795 KR ET | BREX RIRET =T H #IN 2, 100
796 KRR | BB RIRETIU T H H#IN 520
797 KRR F T | BRI RSP EET T H N 1,490
800 ORISR | BSX MR =T BN 3, 050
801 KRR | BB RIRET T H HIN 950
802 R F T | BRSSP T T H H#N 1,520
803 DR W | MR PR =T H H#iN 800
804 A Ji | B AE—T H A 1,090
806 Yook B | IS OERE T BHN 1,060
808 It T | S AEET-E T HN 630
809 It T | S AEETUT B N 590
810 = P | MRS @A T B HIN 1,170
812 X W | BEX L3HE—T BHAN 1, 750
814 PO | RIS X R LT H M 1,150
815 T A AR | BUSK TS T B HIA 1, 360
818 ok R | MUK AR — T H H 990
820 - | RS BT A 1, 080
821 A Ji | BREX AR =T H N 1,070
822 ORISR | BSX MR T BHA 1,240
823 It T | S AEETUT B HIN 1,070
824 R F T | BRESK RAE T =T 3 H#iN 1,410
825 £ I A | MEK ArHFEART BN 1, 150
826 KRR F T | BRI K RSP EET T H N 930
827 X W | BEX L3HE=T BN 550
829 oA R | BRI AT BN 970
832 X W | BEX B3CHE T BHAN 1,470
836 KRR F T | BRI K RSP EET T H N 680
838 KRR F T | BRI K RSP EET T H N 810
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839 OB N | HUEX FEARTET HH#A #J 2,000 ot
840 H | S A — T B 800
843 KRR F T | BRSSP T T H N 1, 080
844 ok R | MUK AR — T H H 560
845 X W | BEX E3E=T BN 2, 440
846 X W | BEX B3CHE T BN 930
847 X W | BEX L3HE—T BN 760
850 2 = | MEXK G T BN 620
851 DR W | MR PR =T H H#iN 1, 790
852 PR R | BB PEOROR T H HIN 2,420
853 PR R | BB PEORIR T H I 3,010
854 PR R | BRI PRI =T H I 660
855 X W | BEX B3CHE T BHAN 1,950
857 H | ARSI HARDL T H HpN 760
858 Ao I A | MEK ArteET BN 970
859 T A AR | BUSK FAARRHIT B HN 1,090
860 A Ji | B AE—T H A 540
862 R R | BSXK MR IT BHIN 1,820
863 Ao I A | MEK ArteET BN 500
864 B LR E | BEXEERE=THHA 870
865 A Ji | BREX AR =T H N 1,910
866 KRR | BB RIRETIU T H H#IN 850
867 BE BT | AUEDC BARTEIIY T E HiN 970
868 OB OHT | HUEX FARST HH#AN 560
869 o B ofw | WEXK &ERUT A 1, 000
870 R F T | BRI R P EET =T H H#iN 1,230
871 H | S BHNUT N 890
874 Yook B | IS ERE—T BHN 1,230
875 KRBT | BB RIRET T H #IN 900
876 X W | BEX B3CHE T BHAN 640
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877 H | #EXK B =T RN ) 1,780 nd
878 3 W | BEXK B3EME T H AN 2,010
880 A Ji | B AE—T H A 1, 280
881 PR R | BB PEORIR T H HIY 6,470
883 - | R RE—T A 300
884 H | #EXK B =T RN 1, 450
885 KR ET | BB RIRET—T H #IN 510
886 R F T | BRSSP T T H N 470
887 PR R | BRI PERIRST H N 360
888 S By W | RRESIX SEEFET I 740
889 H | ARSI HARDE T H HpN 1,170
890 oA R | BRI A =T BN 1, 760
891 KRR F T | BRI K RSP EET T H N 610
892 B W Rg | MUBIK BIRTRI =T H HIN 2, 830
893 B W Rg | MUBIK BIRTRI =T H HIN 2, 240
894 oA AR | BRI AT BN 780
895 oA R | BRI AT BN 1,320
896 oo A/ | MEXK ERAENTH 430
897 A i | RS X AT H #A 1, 400
898 PR R | BB PRI — T H H#IN 870
899 KRR F BT | BRI X RS T IU T H N 540
900 KRR F T | RIS X RS EETIU T H N 1, 560
901 S By W | RRESIX SEEFET I 2, 050
902 Yook B | IS OERE =T BHN 430
903 Yook B | IS ERE =T BHN 570
904 OB OHT | HUEX FEARTET HH#AN 670
905 X W | BEX L3HE=T BN 660
906 £ I A | MEK At =T BN 590
907 X W | BSK B3EE T H AN 750
908 B LR E | BEXKEERE=THHA 300
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909 oKk R | HEEX EHAKR-THH#N 9 570
910 WK R | BEX RN T H AN 320
911 KIRZFEET | SEX KIRZEIT T BN 500
3 602 1 % 1, 628, 530
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